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Why need IT Cost Model?

How expenditure items will be recorded and

tracked
How each item will be classified in accounting

terms

How costs will be allocated to services and/or
customers

How costs will be reported.




IT Service Cost Model

Cost by IT organization

This model is typically only used in internal service
providers with multiple IT organizations. In this
model each IT organization accounts for its costs
and reports them to the enterprise financial
management function. These costs are analysed
and then allocated to various business units and
other functions based on one or more of a number
of factors. These include number of users, number
of PCs, percentage of overall utilization of IT
services etc.

Cost by service

This type of cost model is essential for Type ll|
service providers, especially those that position
themselves using variety-based positioning, since
they are in the business of selling services.
However, it is also one of the most valuable types
of cost model for internal service providers. In this
type of cost model the costs of IT are reported
according to service, which makes it possible to
inform customers about the cost or price of a
specific service. The customer is able to use this
information to determine if the service will add
value to them or whether it is too expensive for
the outcomes they are trying to achieve.

Cost by customer

This type of cost model is rarely used on its own,
since it involves communicating the actual costs of
components within the service provider to the
customer. This is a type of ‘pass through’ model,
where the service is paid for by the service provider
and then immediately allocated to the customer.

Cost by location

As with the 'cost by customer’ this type of cost
model is rarely used on its own, since it involves
communicating the actual costs of components
within the service provider to a group of customers
at a particular location. This is also a type of ‘pass
through' model, where the service is paid for by
the service provider and then immediately
allocated to a location. The location will then
decide how to allocate the costs across the local
business units.




Cost by IT Organization

Direct cost Direct cost Indirect cost Direct cost Direct cost
Total cost of IT Total cost of IT
organization A organization B

Total cost of IT

Allocate to
business units
based on number

of users
40% 40% 5% 15%
Manufacturing Distribution Marketing Sales
(400 users) (400 users) (50 users) (150 users)

Costs related to IT organization A

Costs related to IT organization B Percentage of IT costs allocated to business unit =
Number of users in business unit / Total number of
users x100
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Cost by service

Direct cost Direct cost Direct cost
Total cost of
service A
Allocate to customers
based on number of
transactions performed
75% 15% 5%
Manufacturing Distribution Marketing
(1.5 million (300,000 (100,000

transactions) transactions) transactions)

Costs related to service A
Costs related to service B

Indirect cost Direct cost

Total cost of
service B

All costs allocated
to single customer
regard|ess of
utilization

Sales
Pays 5% of the Pays 100% of
costs of service A S e e

(100,000 service B
transactions)




Cost by customer

Direct cost Direct cost Direct cost Indirect cost Direct cost
Total cost to Total cost to
customer A customer B

Costs related to customer A
Costs related to customer B




Cost by Location

Direct cost Direct cost Direct cost Indirect cost Direct cost
Total cost to Total cost to
location A location B

Costs related to bocation A
Costs related to bocation B




Hybrid Cost (Service,

Customer, Location)

Direct cost Indirect cost Direct cost
Indirect cost Direct cost
Total cost of Total cost of Total cost of
service A service B service C
Allocate costs Allocate costs Allocate costs
by number of by storage by number of
transactions utilization users
Manufacturing Distribution Marketing Sales
Divide total Divide total Divide total Divide total
menufacturing IT distribution IT marketing IT sales [T
service costs by service costs by sarvice costs by service costs by
numiser of numbser of number of number of
manufacturing users distribution users marketing users salas usars
Mn = cost per Ds = cost per Ma = cost per Sa = cost par
manutacturing user distribution user marketing user sales user
Calcullate costs by location
Mew York Paris Shanghai
#Manufacturing users *Mn # Manufacturing usars *Mn # Manufacturing users *Mn
+ + +
# Distribution users *Ds # Distribartion users *Ds # Distribution users *Ds
- . -
#Markating users *Ma & Markating users *Ma #Marketing users *Ma
+ + +
8 Sales users *5a # Sales users *Sa # Sales users *5a
- - =
Total IT cost for New Yark Total I cost for Parls Tota] IT cost for Shanghal
#=number of
* = multiplied by

Costs related to service A
Costs related to service B
Costs related to service C




Cost Centre and cost unit

Cost centre
Inventory contro| service
Cost units
Manufacturing IC Warehousing |C
transactions transactions
mManufacturing Warahousing

Figure 4.31 Example of cost centres and cost units




Cost Type and Component

Cost types

Cost elements
A

Hardware

Software

People

Facilities

Consulting
services

Transfer costs

Figure 4.32 Cost types and cost elements

‘People’ elements

“Travel’ elements

Payroll
Hotel
Benefits
Airfare
Travel
Meals
Training
Entertainment
Overtime
Car rental
Recruiting
Passportfvisa




Why IT need cost

classification

Simply put, if a cost is classified as operational, the
entire cost of that item has to be accounted for
and funded in the current financial year. If this is a
large investment that is not going to show any
returns in the current year, it will be very difficult
to show value and it is very likely that IT will be
viewed as too expensive, or that an alternative
service needs to be found, Additionally, the
organization’s tax liabilities are different for
operational and capital expenses.




Cost Classification

Capital costs or capital expenditure (Capex) is
the cost of purchasing something that will
become a financial asset — for example,

computer equipment and buildings. Capital
costs are used to purchase fixed assets,
information about which is stored in the
organization’s asset register, and which are
subject to the asset management process.

Operational costs or operational expenditure
(Opex) is the cost resulting from running the IT
services, which often involves repeating
payments — for example, staff costs, hardware
maintenance and electricity. Operational
expenses are also known as current expenditure
or revenue expenditure.

Direct costs refer to any cost in providing an IT
service which can be allocated in full to a
specific customer, service, cost centre, project
etc, (for example, the cost of providing
dedicated servers or personal computers).
Indirect costs refer to any cost of providing an
IT service which cannot be allocated in full to a
specific cost centre, such as customer, service,

Fixed or variable

The third cost classification is whether the cost is
fixed or variable:

Fixed costs are costs that do not vary with IT
service usage — for example, the cost of server
hardware.

Variable costs are costs that depend on how
much an IT service is used, how many products
are produced, the number and type of users,
electricity or something else that cannot be
fixed in advance,
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Example: printing services

Cost of paper — the greater (or smaller) the
number of pages printed, the higher {or
lower) the amount of money that will be

Cost of printer — the cost remains the same
until the number of printouts exceeds
20,000 per day. A new printer is

spent on paper purchased, doubling the fixed cost.
If printing exceeds 40,000 per day, another
new printer could be added, increasing the
fixed costs again
Stepped
fived cost
e
S
Number of pages printed 20,000 40,000 60,000

Number of pages printed

Figure 4.34 Example - fixed and variable costs in a printing service
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